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There are 15 questions on the reading skills assessment test. You have 20 minutes to take the test.
Section #1
Martin Luther did see an inevitable amount of growth arising from conversion. He stated, “righteousness (justification) precedes works and good works grow out of it.” Some have taken this to mean that only those who have an ever-increasing practical righteousness are truly saved. This is not necessarily what Luther taught. While he may have asserted that faith works, he did not go as far as saying that works prove regeneration. He simply recognizes that regeneration produces growth. He observes, “God frequently permits a man to fall into or remain in grievous sin, in order that he may be put to shame in his own eyes and in the eyes of all men." A Christian then can sin grievously and remain in it according to Luther. He also recognizes that justification comes by faith alone and any discussion of works can only come after justification. He states, “a true Christian says: I am justified and saved only by faith in Christ, without any works or merits of my own." Therefore, justification precedes experiential sanctification. This is the gospel message..
1. According to this passage, Luther believed that a Christian… * 
☐  can continue to sin without consequences 
☐  can continue to sin but must repent if they want to be justified 
☐  can sin without it affecting their justification 
☐  must produce good works if they are a true Christian 

2. When someone is saved by faith in God, this is called: * 
☐  Regeneration 
☐  Justification
☐  Experiential Sanctification
☐  Practical Righteousness 


3. From this passage, when a person has an “ever-increasing practical righteousness,” they… * 
☐  do more and more good things 
☐  are different than they were before
☐  have a new outlook on life 
☐  they are declared to be at peace with God 

4. According to this passage, justification comes ______ good works * 
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☐  as a result of 
☐  Before
☐  after 
☐  through 


Section #2
5. What is the meaning of the following sentence: The man fed her cat food. * 

☐  The man fed a cat.
☐  The man fed a woman cat food
☐  Either A or B.
☐  Neither A or B. 


6. What is the meaning of the following sentence: I saw jumping Jacks at the gym? * 
☐  the writer is talking about an activity.
☐  The writer is talking about persons named Jack.
☐  Either A or B.
☐  Neither A or B. 

7. Choose the best option: People used to think Joe Montana was the greatest quarterback. ________, people now think Tom Brady is the greatest. * 

☐  Meanwhile
☐  Subsequently
☐  However
☐  notwithstanding 


8. What word indicates that the author is most certain about his conclusion?: * 

☐  Could 
☐  Should 
☐  Might 
☐  Must 


9. I want to (insure/ensure) that you had a great time taking this test. * 

☐  Insure
☐  ensure 


10. This test has had a great (effect/affect) on your mood. * 

☐  effect
☐  affect 

1. What is the most likely response? He showed me his suitcase, ___ it wasn't big enough to fit all of his clothes. * 

☐  and
☐  but
☐  yet
☐  so 


12. The stack of books (are/is) on the table. * 

☐  are
☐  is 


13. The sentence "I could of won the race" is grammatically correct * 

☐  True
☐  False 


14. I want to go to the store (to/two/too). * 
☐  to
☐  two
☐  too 

15. Paul is better (then/than) Judas. * 

☐  then 
☐  than 
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